



Vendor Ranking

Page 1 of 1

Letting: 01220217 February 17, 2022 11:00 AM **Call Order**: 012 **Contract**: E1V33-R0

District: District 1 Counties: DESOTO, DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS HARDEE Project(s): 43265017272 (*)

Contract Desc: Shoulder Repair wit Sodding

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	T & M LAWN-FENCE SERVICE INC	Responsive	Winning bid	\$196,100.00	100.00%
2	MOVING EARTH INC.	Responsive	Non-Winning Bid	\$217,800.00	111.07%
3	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$222,950.00	113.69%
4	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$259,407.05	132.28%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 4

Letting: 01220217 February 17, 2022 **Call Order:** 012 **Contract:** E1V33-R0

District: District 1 Counties: DESOTO, DIST/ST- Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS WIDE, HARDEE Project(s): 43265017272 (*)

Contract Descr: Shoulder Repair wit Sodding

The work under this Contract consists of Shoulder Repair with Sodding.

	No / Item ID	Alternate	Quantity Units	(1) T & M LA SERVIC		(2) MOVING I	EARTH INC.		VESTERN CTION, INC
() in	dicates item is bi	d as Lump Sum	- 11112	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SODDING (SY						
0005 EMBAN	0120 6 IKMENT		200.000 CY	8.00000	1,600.00	4.00000	800.00	1.00000	200.00
0010 FERTIL	E570 5 .IZER		5.000 TN	100.00000	500.00	200.00000	1,000.00	500.00000	2,500.00
0015 WATER	E570 9 1 R FOR GRASS	& PLANTS	500.000 MG	1.00000	500.00	3.00000	1,500.00	25.00000	12,500.00
0020 SODDI	E575 1 NG		45,000.000 SY	2.00000	90,000.00	2.65000	119,250.00	3.25000	146,250.00
0025 SHOUL	E577 70 .DER REWOR	<	45,000.000 SY	1.85000	83,250.00	1.65000	74,250.00	1.00000	45,000.00
0030 REWOI	E577 70 2 RKING UTILITY	/ STRIPS	3,000.000 SY	1.80000	5,400.00	2,00000	6,000.00	1.00000	3,000.00
	E577 71 NG PAVED SHO ID PAVEMENT	OULDER, UP T	15,000.000 O 24" LF	0.99000	14,850.00	1.00000	15,000.00	0.90000	13,500.00



02/17/2022

Page 2 of 4

Tabulation of Bids

Letting: 01220217 February 17, 2022 **Call Order:** 012 **Contract:** E1V33-R0

		Quantity Units	(1) T & M LAWN-FENCE SERVICE INC		(2) MOVING EARTH INC.		(3) MIDWESTERN CONSTRUCTION, INC	
() indicates item is bid as Lu	ump Sum	511115	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0001 (SODDING (SY

0001 SODDING (SY) Section Totals: \$196,100.00 \$217,800.00 \$222,950.00

Contract Grand Totals:	\$196,100.00	\$217,800.00	222,950.00
	. ,	, ,	•





Tabulation of Bids

Page 3 of 4

Letting	j: 01	1220217	February 17, 20	022 Cal	I Order: 012		Contract:	E1V33-R0	
	No / Item ID Description	Alternat	e Quantity Units	(4) ROGAR MAI	OF FLORIDA				
() ind	icates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SODDING (SY						
0005 EMBANI	0120 6 KMENT		200.000 CY	34.61000	6,922.00				
0010 FERTILIZ	E570 5 ZER		5.000 TN	0.01000	0.05				
0015 WATER	E570 9 1 FOR GRASS	& PLANTS	500.000 MG	0.01000	5.00				
0020 SODDIN	E575 1 IG		45,000.000 SY	3.69000	166,050.00				
0025 SHOULE	E577 70 DER REWORK	<	45,000.000 SY	1.21000	54,450.00				
0030 REWOR	E577 70 2 KING UTILITY	/ STRIPS	3,000.000 SY	2.61000	7,830.00				
	E577 71 G PAVED SHO D PAVEMENT	OULDER, UP	15,000.000 ГО 24" LF	1.61000	24,150.00				
	0001 SO	DDING (SY) S	Section Totals:		\$259,407.05		ı		

Contract Grand Totals:

\$259,407.05



02/17/2022

Tabulation of Bids

Page 4 of 4

Letting: 01220217 February 17, 2022

Call Order: 012

Contract:

E1V33-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.